Technische Zeichnung, Technical drawing, 04/2021 POWER"’
Dessin technique JEpSDN

Electric Beveler 0/15-60/Tube Page 1/1




Beveler 0/15-60/TUBE | 495020N

JEPSO,

Leading Through Innovation

ITEM PART NO Q'TY PART NAME Price in € excl. VAT
1) MAEBNO1 1 FRONT HANDLE AM-5000 29.40 €
2.) MAEBNO2 4 SCREW M14 x 25 2.67 €
3.) MAEBNO3N 1 Bracket Head Cover 23736 €
4.) MAEBNO4 4 SCREW M10 x 20 1.07 €
5.) MAEBNO5 4 FLAT WASHER @10 x P23 x 2 0.54 €
6.) MAEBNO6 1 DEPTH ADJUST NUT 21.92 €
7.) MAEBNO7 1 HEX. NUT M16 x P2.0 1.07 €
8.) MAEBNO8 1 DISC SPRING @16 x P30 x 1.5 428 €
9.) MAEBNO9 2 MILLING DISC 139.00 €
10.) MAEBN10 12 HEADLESS SCREW M6 x 6 0.54 €
11.) 495030 1 CARBIDE MILLING PLATE SET 14190 €
12.) MAEBN12 1 INTERMEDIATE WASHER @20 x P35 x 3.5 9.09 €
13.) MAEBN13 1 MILLING RECEIVER 32.08 €
14.) MAEBN14 1 BEARING PLATE 188.72 €
17.) MAEBN17 5 SCREW M4 x 10 0.54 €
18.) MAEBN18 1 CABLE GLAND 9.09 €
19.) MAEBN19 1 BALL BEARING 6004-LLU 31.01€
20.) MAEBN20 1 ARMATURE 220 Volt 160.38 €
21.) MAEBN21 1 PARALLEL KEY 6 x 6 x 30 1.61€
23.) MAEBN23 1 SCREW M4 x 8 0.54 €
24.) MAEBN24 1 SUN WASHER M4 0.54 €
26.) MAEBN26 1 BALL BEARING 6202 zz 13.37 €
27.) MAEBN27 1 WAVE WASHER 6202 1.07 €
28.) MAEBN28 1 MOTOR END CASTING 4490 €
29.) MAEBN29 4 SOCKET CAP SCREW M5 x 200 12.30 €
30.) MAEBN30 1 FAN PM-025 6.41 €
31.) MAEBN31 1 FAN COVER PM-025 13.90 €
32.) MAEBN32 4 SCREW M5 x 8 0.54 €
33.) MAEBN33 1 CONTROL BOX PM-025 28.86 €
34.) MAEBN34 1 CAPACITOR 400VAC, 20UF 230V 29.40 €
35.) MAEBN35 1 SWITCH PANEL 30.47 €
36.) MAEBN36 4 SCREW M4 x 10 0.54 €
37.) MAEBN37 1 SWITCH KID17-AC230V 48.65 €
38.) MAEBN38 3 3 Wire Push in Connector 3.21€
39.) MAEBN39 1 CABLE GLAND SB7R-3 0.54 €
40.) MAEBN40 1 CABLE GLAND SB8R-3 1.07 €
41.) MAEBN41 1 POWER SUPPLY CABLE 1.0 x 3CX2.5M VDE 25.66 €
42.) MAEBN42 2 WIRE LEAD 10mm 16AWG x 15cr 1.07 €
43.) MAEBN43 1 WIRE SHEATH 6mm*15cm 3.21€
44.) MAEBN44 1 HANDLE 48.65 €
45.) MAEBN45 2 SCREW M8 x 40 1.07 €
46.) MAEBN46 2 SPRING WASHER M8 0.54 €
47.) MAEBN47 4 RUBBER FOOT 30L 18.17 €
48.) MAEBN48 4 FLAT WASHER @6 x P13 x 1 0.54 €
49.) MAEBN49 4 SCREW M6 x 30 0.54 €
50.) MAEBN50 16  SCREW M6 x 16 0.54 €
52.) MAEBN52N 4 GUIDING Roller 20.32 €
54.) MAEBN54 1 SLEWING SEGMENT (L) 122.96 €
55.) MAEBNS55 1 SLEWING SEGMENT (R) 122.96 €
57.) MAEBN57 1 VERTICAL TABLE PLATE 121.89 €
58.) MAEBN58 1 L-WRENCH M3 0.54 €
59.) MAEBN59 1 WRENCH M24 x M27 21.38 €
60.) MAEBN60 1 WRENCH M32 53.46 €
61.) MAEBN61 1 L-WRENCH M8 3.74 €
62.) MAEBN62 8 SOCKET CAP SCREW M5 x 12 0.54 €
63.) MAEBN63 2 ROLLER AXLE-SMALL 428 €
64.) MAEBN64 2 GUIDE ROLLER-SMALL 5.35€
65.) MAEBN65 4 AXLE SHACKLE 22.99 €
66.) MAEBN66 1 Stator Assembly 220 Volt 520.70 €
56A MAEBN67A 1 Horizontal Table Plate @150 - 350 mm 213.51 €
56B MAEBN67B 1 Horizontal Table Plate »300 - 600 mm 240.57 €
67.) MAEBN68 2 Wedge Nut 18.71 €

POUER’

GERMANY



JEPSO,

POUER’

Beveler 0/15-60/TUBE | 495020N GERMANY
Leading Through Innovation
68.) MAEBN69 4 FLAT WASHER P8 x P23 x 2 0.54 €
69.) MAEBN70 2 Roller Acle 33.14 €
70.) MAEBN72 2 Nut M8 0.54 €
71.) MAEBN73 1 WRENCH 22mm 5.89 €
72.) MAEBN74 2 TERMINAL (FLN1.25-7A) 1.07 €
73.) MAEBN75 1 SADDLE TYPE TIE MOUNT HC-4 0.54 €
74.) MAEBN76 1 SCREW M5 x 8 0.54 €
75.) MAEBN77 1 TIE 4.7mm x 200mm 0.54 €
MAEBNBOX 1 Case New Beveler 85.80 €






